Even

Now You Try

An integer x is even if (and
only if) there exists an
integer z, such that x = 2z.

The sum of two even numbers is even.

Fill out the poll everywhere for

Make sure you know: Activity Credit!
1. What every word in the statement means. [ sollev.com/cse311 and login
2. What the statement as a whole means. with your UW identity
Or text cse311 to 22333
3. Where to start. 1. Write the statement in predicate

4. What your target is. ~ logic
2. Write an English proof.

3. If you have lots of extra time, try
writing the symbolic proof instead.



